
X[0] <= 0.5
mse = 0.95

samples = 26414
value = -0.004

X[17] <= 0.5
mse = 0.628

samples = 20678
value = 0.27

True X[16] <= 0.5
mse = 0.866

samples = 5736
value = -0.986

False

X[19] <= -0.159
mse = 0.156

samples = 1164
value = -0.095

X[21] <= 0.752
mse = 0.648

samples = 19514
value = 0.292

X[22] <= 0.5
mse = 0.152

samples = 688
value = -0.036

X[29] <= 0.5
mse = 0.149

samples = 476
value = -0.181

X[24] <= 0.5
mse = 0.125

samples = 512
value = -0.067

X[21] <= -0.498
mse = 0.22

samples = 176
value = 0.056

X[19] <= -0.283
mse = 0.117

samples = 342
value = -0.04

X[21] <= -0.163
mse = 0.137

samples = 170
value = -0.12

X[19] <= -1.493
mse = 0.108

samples = 327
value = -0.053

X[19] <= -0.211
mse = 0.237
samples = 15
value = 0.242

mse = 0.077
samples = 14
value = -0.257

mse = 0.107
samples = 313
value = -0.045

mse = 0.17
samples = 8
value = 0.493

mse = 0.12
samples = 7

value = -0.109

X[21] <= -0.94
mse = 0.135

samples = 168
value = -0.126

X[10] <= 0.5
mse = 0.064
samples = 2
value = 0.422

mse = 0.11
samples = 82
value = -0.069

mse = 0.151
samples = 86
value = -0.176

mse = 0.0
samples = 1
value = 0.064

mse = 0.0
samples = 1
value = 0.601

X[13] <= 0.5
mse = 0.214

samples = 129
value = 0.108

X[21] <= -0.481
mse = 0.206
samples = 47
value = -0.097

X[21] <= -1.522
mse = 0.131
samples = 79
value = 0.016

X[16] <= 0.5
mse = 0.304
samples = 50
value = 0.243

mse = 0.225
samples = 2
value = -0.68

mse = 0.121
samples = 77
value = 0.027

mse = 0.296
samples = 47
value = 0.268

mse = 0.059
samples = 3
value = -0.42

X[21] <= -0.485
mse = 0.53
samples = 4
value = -0.86

X[12] <= 0.5
mse = 0.13

samples = 43
value = -0.036

mse = 0.019
samples = 3

value = -0.272

mse = 0.0
samples = 1

value = -1.742

mse = 0.137
samples = 31
value = 0.053

mse = 0.062
samples = 12
value = -0.229

X[4] <= 0.5
mse = 0.156

samples = 301
value = -0.143

X[19] <= 2.294
mse = 0.129

samples = 175
value = -0.247

X[6] <= 0.5
mse = 0.151

samples = 248
value = -0.172

X[22] <= 0.5
mse = 0.155
samples = 53
value = -0.006

X[19] <= -0.131
mse = 0.15

samples = 247
value = -0.177

mse = 0.0
samples = 1
value = 0.409

mse = 0.134
samples = 12
value = -0.398

mse = 0.148
samples = 235
value = -0.167

X[10] <= 0.5
mse = 0.28

samples = 10
value = -0.336

X[21] <= 0.415
mse = 0.104
samples = 43
value = 0.06

mse = 0.062
samples = 5
value = 0.114

mse = 0.226
samples = 5

value = -0.585

mse = 0.09
samples = 19
value = 0.175

mse = 0.092
samples = 24
value = -0.049

X[16] <= 0.5
mse = 0.124

samples = 169
value = -0.235

X[19] <= 2.788
mse = 0.159
samples = 6

value = -0.593

X[7] <= 0.5
mse = 0.12

samples = 168
value = -0.239

mse = 0.0
samples = 1
value = 0.788

mse = 0.115
samples = 164
value = -0.247

mse = 0.228
samples = 4
value = 0.224

X[21] <= 2.415
mse = 0.089
samples = 4

value = -0.808

X[5] <= 0.5
mse = 0.022
samples = 2

value = -0.162

mse = 0.0
samples = 1
value = -1.35

mse = 0.036
samples = 3
value = -0.7

mse = 0.0
samples = 1
value = 0.047

mse = 0.0
samples = 1

value = -0.267

X[2] <= 0.5
mse = 0.53

samples = 15661
value = 0.327

X[16] <= 0.5
mse = 1.107

samples = 3853
value = 0.145

X[9] <= 0.5
mse = 0.592

samples = 7595
value = 0.276

X[19] <= 0.284
mse = 0.466

samples = 8066
value = 0.376

X[1] <= 0.5
mse = 0.488

samples = 6178
value = 0.304

X[21] <= -0.474
mse = 1.02

samples = 1417
value = 0.154

X[5] <= 0.5
mse = 0.536

samples = 675
value = 0.183

X[21] <= 0.722
mse = 0.48

samples = 5503
value = 0.319

mse = 0.555
samples = 528
value = 0.138

mse = 0.414
samples = 147
value = 0.366

mse = 0.432
samples = 5460
value = 0.316

mse = 7.198
samples = 43
value = 0.712

X[19] <= -0.498
mse = 1.136

samples = 621
value = 0.226

X[21] <= 0.333
mse = 0.922

samples = 796
value = 0.098

mse = 0.936
samples = 605
value = 0.206

mse = 7.562
samples = 16
value = 0.907

mse = 0.847
samples = 535
value = 0.043

mse = 1.052
samples = 261
value = 0.205

X[9] <= 0.5
mse = 0.466

samples = 6865
value = 0.393

X[10] <= 0.5
mse = 0.461

samples = 1201
value = 0.278

X[16] <= 0.5
mse = 0.452

samples = 4970
value = 0.416

X[16] <= 0.5
mse = 0.495

samples = 1895
value = 0.332

mse = 0.354
samples = 4841
value = 0.406

mse = 4.026
samples = 129
value = 0.803

mse = 0.398
samples = 1775
value = 0.345

mse = 1.819
samples = 120
value = 0.151

X[5] <= 0.5
mse = 0.551

samples = 445
value = 0.203

X[16] <= 0.5
mse = 0.402

samples = 756
value = 0.322

mse = 0.633
samples = 151
value = 0.051

mse = 0.487
samples = 294
value = 0.286

mse = 0.38
samples = 730
value = 0.337

mse = 0.822
samples = 26
value = -0.059

X[21] <= 1.541
mse = 0.693

samples = 3639
value = 0.118

X[32] <= 0.5
mse = 8.218

samples = 214
value = 0.622

X[1] <= 0.5
mse = 0.595

samples = 2532
value = 0.18

X[21] <= 2.321
mse = 0.891

samples = 1107
value = -0.024

X[3] <= 0.5
mse = 0.713

samples = 150
value = -0.131

X[25] <= 0.5
mse = 0.582

samples = 2382
value = 0.198

mse = 0.655
samples = 124
value = -0.059

mse = 0.845
samples = 26
value = -0.469

mse = 0.636
samples = 1737
value = 0.159

mse = 0.423
samples = 645
value = 0.303

X[19] <= 1.696
mse = 0.893

samples = 898
value = 0.028

X[31] <= 0.5
mse = 0.822

samples = 209
value = -0.247

mse = 0.692
samples = 280
value = -0.11

mse = 0.972
samples = 618
value = 0.091

mse = 0.775
samples = 176
value = -0.165

mse = 0.835
samples = 33
value = -0.707

X[18] <= 0.5
mse = 10.4

samples = 145
value = 0.976

X[14] <= 0.5
mse = 2.992
samples = 69
value = -0.101

X[21] <= 0.827
mse = 14.011
samples = 93
value = 1.434

X[14] <= 0.5
mse = 3.102
samples = 52
value = 0.179

mse = 16.357
samples = 8
value = 4.701

mse = 13.156
samples = 85
value = 1.229

mse = 3.351
samples = 42
value = 0.424

mse = 0.431
samples = 10
value = -0.944

X[21] <= 2.369
mse = 1.018
samples = 61
value = -0.441

X[21] <= 1.078
mse = 10.46
samples = 8
value = 2.533

mse = 0.763
samples = 59
value = -0.514

mse = 1.401
samples = 2
value = 2.873

mse = 0.093
samples = 2
value = 7.61

mse = 2.457
samples = 6
value = 0.84

X[19] <= 1.164
mse = 0.632

samples = 5071
value = -1.039

X[18] <= 0.5
mse = 2.429

samples = 665
value = -0.591

X[1] <= 0.5
mse = 0.683

samples = 3877
value = -1.002

X[2] <= 0.5
mse = 0.453

samples = 1194
value = -1.156

X[22] <= 0.5
mse = 0.427

samples = 270
value = -1.199

X[17] <= 0.5
mse = 0.699

samples = 3607
value = -0.987

X[19] <= 0.222
mse = 0.455

samples = 234
value = -1.165

X[8] <= 0.5
mse = 0.209
samples = 36
value = -1.404

X[21] <= 0.201
mse = 0.47

samples = 151
value = -1.11

X[18] <= 0.5
mse = 0.413
samples = 83
value = -1.265

mse = 0.403
samples = 147
value = -1.149

mse = 1.002
samples = 4
value = 0.155

mse = 0.649
samples = 39
value = -1.099

mse = 0.162
samples = 44
value = -1.41

X[26] <= 0.5
mse = 0.403
samples = 12
value = -1.113

X[17] <= 0.5
mse = 0.077
samples = 24
value = -1.526

mse = 0.286
samples = 11
value = -1.249

mse = -0.0
samples = 1

value = -0.022

mse = 0.051
samples = 2

value = -1.113

mse = 0.061
samples = 22
value = -1.568

X[22] <= 0.5
mse = 0.214

samples = 154
value = -0.783

X[12] <= 0.5
mse = 0.72

samples = 3453
value = -0.997

X[2] <= 0.5
mse = 0.166
samples = 95
value = -0.849

X[20] <= 0.5
mse = 0.282
samples = 59
value = -0.653

mse = 0.166
samples = 43
value = -0.713

mse = 0.138
samples = 52
value = -0.961

mse = 0.203
samples = 50
value = -0.763

mse = 0.312
samples = 9
value = -0.09

X[21] <= 0.905
mse = 0.774

samples = 2799
value = -0.977

X[21] <= -1.501
mse = 0.469

samples = 654
value = -1.085

mse = 0.622
samples = 2536
value = -0.994

mse = 2.171
samples = 263
value = -0.816

mse = 0.075
samples = 7

value = -1.634

mse = 0.47
samples = 647
value = -1.076

X[1] <= 0.5
mse = 0.431

samples = 776
value = -1.201

X[9] <= 0.5
mse = 0.483

samples = 418
value = -1.07

X[13] <= 0.5
mse = 0.201
samples = 90
value = -1.362

X[17] <= 0.5
mse = 0.456

samples = 686
value = -1.181

X[21] <= 1.277
mse = 0.148
samples = 69
value = -1.424

X[21] <= 1.76
mse = 0.313
samples = 21
value = -1.175

mse = 0.003
samples = 7

value = -1.785

mse = 0.148
samples = 62
value = -1.398

mse = 0.083
samples = 10
value = -1.413

mse = 0.411
samples = 11
value = -0.996

X[19] <= 1.303
mse = 0.219
samples = 21
value = -0.883

X[19] <= 1.703
mse = 0.46

samples = 665
value = -1.189

mse = 0.033
samples = 3

value = -0.331

mse = 0.17
samples = 18
value = -1.021

mse = 0.502
samples = 337
value = -1.145

mse = 0.413
samples = 328
value = -1.234

X[7] <= 0.5
mse = 0.551

samples = 271
value = -0.995

X[19] <= 1.304
mse = 0.338

samples = 147
value = -1.202

X[19] <= 1.763
mse = 0.536

samples = 266
value = -1.01

X[10] <= 0.5
mse = 0.669
samples = 5

value = -0.183

mse = 0.463
samples = 147
value = -1.102

mse = 0.603
samples = 119
value = -0.898

mse = 0.128
samples = 3

value = -0.641

mse = 0.639
samples = 2
value = 0.579

X[18] <= 0.5
mse = 0.444
samples = 24
value = -0.973

X[21] <= 2.709
mse = 0.298

samples = 123
value = -1.255

mse = 0.431
samples = 12
value = -0.573

mse = 0.094
samples = 12
value = -1.41

mse = 0.302
samples = 119
value = -1.239

mse = 0.024
samples = 4

value = -1.674

X[21] <= -1.173
mse = 3.254

samples = 332
value = -0.391

X[21] <= 1.663
mse = 1.554

samples = 333
value = -0.784

X[13] <= 0.5
mse = 7.303
samples = 22
value = 0.784

X[32] <= 0.5
mse = 2.838

samples = 310
value = -0.479

X[5] <= 0.5
mse = 8.088
samples = 18
value = 1.355

X[19] <= -1.327
mse = 1.93
samples = 4

value = -0.757

X[12] <= 0.5
mse = 11.001
samples = 6
value = 2.859

X[19] <= -1.265
mse = 3.462
samples = 12
value = 0.321

mse = 7.134
samples = 5
value = 1.382

mse = -0.0
samples = 1
value = 6.796

mse = 2.114
samples = 9
value = -0.61

mse = 1.854
samples = 3
value = 1.874

X[3] <= 0.5
mse = 0.017
samples = 2

value = -1.656

X[21] <= -1.219
mse = 2.226
samples = 2
value = 0.142

mse = 0.0
samples = 1

value = -1.551

mse = 0.0
samples = 1

value = -1.815

mse = 0.0
samples = 1
value = 1.36

mse = 0.0
samples = 1

value = -1.685

X[19] <= 2.436
mse = 3.344

samples = 223
value = -0.359

X[21] <= 2.318
mse = 1.483
samples = 87
value = -0.773

X[13] <= 0.5
mse = 3.508

samples = 208
value = -0.29

X[3] <= 0.5
mse = 0.178
samples = 15
value = -1.294

mse = 2.748
samples = 142
value = -0.49

mse = 4.809
samples = 66
value = 0.118

mse = 0.159
samples = 13
value = -1.363

mse = 0.041
samples = 2

value = -0.809

X[14] <= 0.5
mse = 1.246
samples = 84
value = -0.851

X[3] <= 0.5
mse = 2.16
samples = 3
value = 1.937

mse = 0.824
samples = 75
value = -1.006

mse = 2.834
samples = 9
value = 0.19

mse = 0.009
samples = 2
value = 3.405

mse = -0.0
samples = 1
value = 0.469

X[8] <= 0.5
mse = 1.265

samples = 287
value = -0.855

X[21] <= 1.668
mse = 3.168
samples = 46
value = -0.335

X[9] <= 0.5
mse = 1.506

samples = 212
value = -0.775

X[12] <= 0.5
mse = 0.599
samples = 75
value = -1.057

X[26] <= 0.5
mse = 1.082

samples = 102
value = -0.922

X[19] <= 0.183
mse = 1.875

samples = 110
value = -0.632

mse = 1.189
samples = 87
value = -0.861

mse = 0.413
samples = 15
value = -1.238

mse = 2.402
samples = 52
value = -0.262

mse = 1.229
samples = 58
value = -0.94

X[21] <= 0.608
mse = 0.503
samples = 65
value = -1.139

X[19] <= 0.264
mse = 0.895
samples = 10
value = -0.495

mse = 0.172
samples = 37
value = -1.363

mse = 0.776
samples = 28
value = -0.859

mse = 0.693
samples = 7

value = -0.171

mse = 0.102
samples = 3

value = -1.548

mse = 0.0
samples = 1
value = 5.914

X[2] <= 0.5
mse = 2.142
samples = 45
value = -0.508

X[27] <= 0.5
mse = 1.782
samples = 34
value = -0.759

X[19] <= 2.64
mse = 2.441
samples = 11
value = 0.304

mse = 0.994
samples = 26
value = -0.974

mse = 3.848
samples = 8
value = 0.011

mse = 0.657
samples = 8

value = -0.334

mse = 2.608
samples = 3
value = 2.379


